YRR29FOH3H

E—BHIN SME (1278)

AfRLUF 2 S —DEp (418)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 ED B 37 38 75 10 65
2 ik 58 40 37 77 9 68
3 R BEE 37 36 73 4 69
4 (FiE = 39 37 76 ’ 69
5 it =17 41 36 77 8 69

N +Z0OR

BG EIDIE—AR 36 33 69

B#kL F+ 2S5 —DE0 (538)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 INE 47 | 42 89 25 64
2 &b PERR 39 41 80 14 66
3 FWUL %Y 39 44 83 15 68
4 == sk 42 42 84 16 68
5 =0 R 43 49 92 24 68

N +Z0OR

BG ;s IER 39 | 41 80




E— BRI TH29F0R3H

TISVRIZP « UT 1 —RADEB (338)

g iz K 2 OUT| IN |GROSS|HDCP| NET
1 HIEB R 38 38 76 13 63
2 =X F83 41 37 78 15 63
3 RE B 42 41 83 17 66
4 =2H FHe 48 44 92 26 66
5 Bl 1ES 46 46 92 25 67

N +Z0OR

BG HIEB R 38 38 76

X RJTORHIEE AN ARETYF T RAT7A—RARICTRELES




